
Answer on Question #59643, Chemistry / General Chemistry 

1. You have 2.0 L sodium hydroxide solution that has a concentration of 0.4 Molar. You need
to make 500mL of a .1 Molar solution. How many mL of concentrated solution are
needed?

Solution: 

We need 500mL 0.1M solution. 

CM = 0.1 mol/L 

CM = 
𝑛

𝑉
 n = CM × V 

n = 0.1mol/L × 0.5L = 0.05 mol. 

We need  0.05 mol of solute. 

We find the volume of a concentrated solution which contains 0.05 mol of solute: 

CM = 0.4 mol/L 

CM = 
𝑛

𝑉
V = 

𝑛

𝐶𝑀

V = 
0.05𝑚𝑜𝑙

0.4mol/L
 = 0.125L = 125mL 

Answer: We need 125mL of concentrated solution . 
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